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|| Question A B & % o Al B|]c] D]
% ::3 Beéagzgmeb:ﬁ::en entities COLLEGE | p o cursive Unary Binary Ternary O O O O
2. Which of the following is an output device? |Microphone |Speaker Track ball  |Mouse & 0O O @
3. Google Chrome is an example of: gopﬁ?;lﬁgurce Freewsare Shareware ;L?ﬁ;':?g O O O O
Which of the following is an example of{Flash ; Magnetic . ;
% sequential access memory? Memory i DS | 780 BuRayDisk | C O O O
5. Amemory card is an example of: r?l?eﬁ:ry Chip memory m:ﬁ:ﬁﬁc ggﬁf::y O C O O
A memory word thal is to be stored in or|Memory M A ulat
6. fetched from memory must first beladdress Data register |, omew | CEITLIANOr
transferred into: register buffer register [register o R O O
Which of the following poris is used tof.. . .
B b sk i Firewire ps/2 Serial Paralle £y 3 & O
Which of the following protocols is used at
8- Session layer of 0S| model? X.25 Tce NetBIOS HTTP O & 9O O
The IP address 172,168.12.110 is an example :
% of folowing network dass: Class D Class A Class B Class C €3 1 %3 1O
TV remote is an example of following ; :
DA AL R infrared Wi-Fj Wi-Max Bluetocth O D 0O O
Whic';'leuf c:?e following refers to tt;e minimum _
number of times an instance of one entity . - S it
11 csociated with the Instances of related |Modality Hierarchy Cardinality  iFeasibility e 0 o D
entity?
Which of the fallowing is used in relationship .
12. between tables whose value matches with E:condary kceandldala Foreignkey |attenatekey i O O O O
{he primary key in ancther table? i Y .
13. Which dependency is removed in 2NF?  Mulivalued (pore Y tangie 1 O O O O
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Time allowed: 2:40 Hours

COMPUTER SCIENCE HSSC-I

Total Marks Sections B and C: 62

SECTION — B (Marks 42)

Q.2 Answer the following guestions briefly. (14x3 =42)

i Differertiate between opensource software and 03 | OR What is Bluetooth? Enlist any two applicaions of 142

@ licensed software with one example each. Bluetooth.

: : R
iy | Which chip memory is faster SRAM or DRAM? GIVe | 45 | o | what is MAN? Wite down its two characteristics. | 142
two reasons of your selection.

Write two comparison points batween 'volatile’ and Why is ‘Cache’ memory used? (Give three

(i) 2 : i 03 | OR 03

_ non-volatile’ memories with one example each. reasons.)
Complete the following table for the following types
of instructions: Draw an ER Diagram that shows cardinality and
Instruction T Number of G i modality for the following situation:

(iv) : Rk operands P 02 | OR | Each student may be registered for one or more | 03
Zero-address courses. A course may have at least ong student
One-addrees ragistered or have several students registered.
Two-address

) mﬁt is system bus? Wite down the purpose of data | ) | oz | How s Form useful in database? Give three reasons | 03

vi What is the purpose of an expansion slot? Identify 241 | OR How is a Super computer different from o3

Wi the most efficient expansion slot as well. Microcomputer? Justify with three reasons.

Which expansion card is required to connect to the ; i ;

{vii) intemet? Give reasons of using this card. 1+2 | OR | What is query? Eniist names of four queries. 1+2

il Compare Half-duplex and Full-duplex 03 | OR Enlist three factors that affect the processing speed 02

communication modes. {(Any three points) of a computer system.

: Compare Mesh and Bus network topologies in terms . pen

3 i [ f D 3
fix} of archiecture: peiigkisteand A 1x3 | OR | Enlist any three roles of Database administrator, 03
R s :
00 | What s WML? Write down its two features. sag | N N2 er han SR monitere Jisiyyour | oy
] ; answer with three reasons.
i} State any three tasks of Data Manipulation od | oR Differentiate between Client-Server and Peer-to- 03
Language. Peer network architectures. (Any three points)
; What is control unit? List down three main Compare field' and ‘record’ with one example of
{xii) 03 | OR 03
components of control unit. each.
identify the Frimary key in the given MS-Access =<
! table, also mention suitable date type for any four
| fields:
i ?
i) | | Publish 142/ OR Wher:; ||: a::g:;am control Instruction? Give an ned
Book ID |Title |Available |Date Price e .
7110 [Python [No 26/12/21 |550
7111 Qracle |Yes 22/01/23 1660 _
= : Is BIOS hardware or software? How is it helpful in
? Enli ¥
:(xw} What is report? Enlist any two report tayouts 1+2 | OR performance of the compuiter sysiem? 1¥2
SECTION - C (Marks 20
Attempt the following questions. (4 x 5= 20)
What is an application software? Explain any two g - :
Q3 | types of application software with one example 1+2 OR Why is wireless communication more popular? Gwa %8
+2 five reasons.
each.
Q4 What is an optical disk? Describe its working 243 | OR What is the purpose of OSI model? Explain the | 1+2
mechanism with an advantage. functions of Transport layer and Application {ayer. 2
Qs What is register? Differentiate between any TWO s+4 | OR What are Pointing input devices? Explain the _—
examplas of Special-purpose registers. purpose and application of any TWO devices.
What is database model? How is Hierarchical :
2
Q6 | databese model different from Network database | 1+4 | O | [Net I8 @ Port? How are USB and HOM) ports | 142
: helpful for the working of computer system? +2
model? Give at least four reasons. ;
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[ | Question A B G D Ale |l cl ]
1. ;?g.;fggg".rsg? batwsen entities AIRLINE |20 rcive  |Unary Binary Ternary (3 i3 £ 4
2. Which of the following is ar input device?  |Microphone |Speaker Eé‘?r‘gé?‘y Plotter ) L O O
3. Microsoft Office is an example of: Opﬁen-?ﬁoume Freewsre Shareware ::I:?wn:sg 3y 3 3 O
Which of the following memory types is
% considered as 'volatile? Memory card |DVD RAM PROM l L R
s - A Cache o Magnetic Opfical
5. A flash memory is an example of: memory Chip memaory memory memory O O O O
Which register hclds the resulis of ALU[Accumulator ; Counter ;
= operations? register Dataregister |Base register register O O O O
Which expangion slot has the highest vid
7. pmm;gce?' © NGNestVIdeo e Express |PCI AGP SATA G 0 O O
Which of the following protocols is used at
8 ppplication layer of OSI model? X.25 TCP HTTP NetBIOS G O O O
The IP address 192.168.123100 is an
5 suariipléoftoilouiig natuotl e’ Class D Class A Class B Class C O O O O
10, WWhich of the following is an application of|Weather aps Satellite 2 te! O O | 50
" Geostationary Earth Orbit? forecasting ;";ig;"a%ms PEGE BRI
Which of the following refers to the maximum
number of times an instance of cne enti X g : S e
O i g e e aPE iataliy Hierarchy ~ |Cardinality |Feasibility O 0O O O
entity?
Which of the following database objects
12- represents results in a presentable way? | <ePOrt Table Form Query &G L0 o O
13. Which dependency is removed in NF?  |Multivalued |Fat@l Ul drangie O O O O
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Time allowed: 2:40 Hours Total Marks Sections B and C: 62

SECTION — B (Marks 42)

Q.2  Answer the following guestions briefly. (14 x 3 = 42)

i Differentiate between shareware and freeware with 03 | OR Why is non-impact printer better than impaci 03

0 | one example each. printer? Justify your answer with three reasons.

Write down any three differences between How is ‘guery’ useful in database? Give three

(in 03 [OR | _ 03

sequential access and direct access devices. reasons.
" o ;

@i m‘;:: EEPROM preferred over ROM? Mention | o5 | e | \Amat is form? Enlist names of four views of forms. | 1+2
Compiete the following isble by identifying the Draw an ER Diagram that shows cardinality and
registers as General or Special purpose. Also wrife modality for the following situation:

; down their use: 03 | or Each student may be assigned to one or more 03

(v} Register General/Special | Use projects or may not be assigned to a project. A

MBR project may have at least one student assigned or
Program Counter may have several students assigned.

) :ﬁ:o;sb::mm bus? Write down the purpase of | 1) | or | whatis GPS? Enlist any two applications of GPS_ | 142

i) Which chip memory is faster DIMM or SIMM? Giva 142 | OR How is a Mainframe computer different from 03
two reasons of your selection. Microcomputer? Justify with three reasons.,

(vii) | Which port is considered as ‘Plug and Play’? Why? | 1+2 | OR | What is Relational database mode|? Give example. | 2+1

twiii) g:;‘:;;;m:’;:ﬂ;’;?;‘fmmg Asynchronois | o5 | R | What is VPN? Write down its two characteristics. | 142

fix) Compare Star and Ring network topologies in terms 03 | OR Differentiate between Circuit switching and Packet 03
of architecture, reliability and expansion. switching with one example each.

( Write down any three limitations of Mobile 03 | OR What is Data transfer instruction? Give an sxample Sk

x) communication system. as well,

v Is a Disk controller hardwarg or software? How is it

{xi) | State any three tasks of Data Definition Language. OSJ oR i BT perfotmsnce oftha computer systerm? 1+2
List down the purpcses of three steps of Instruction Write down the difference between entity and

{xil) 03 | OR : : 03
Cycle. : atiribute with examples.

Identify the Primary key in the given MS-Access
table, also mention suitable daia tvpe for any four

é()ciii} figlds: 142 | OR: What is memory word? How does its size affect the {42

| Emp|ID | Name | OnLeave | DCB Salary processing speed of a computer system?

2001 Alex No 26/03/95 | 70000
2002 Zeta | Yes 22/10/98 | 65000
(xiv} | What is a foreign key? Give exampie. 2+1 | OR | Compare ‘RAM" and 'Cache’. (Any three points) 03
TION — € (Marks 20
Attempt the following questions. (4 x5 =20}
[ . -
Q3 What is system software? Explain any two types of | 1+2 OR Z\;ha! i\.:lrel.esse:on';r:ul:ﬁ :tm.;::;p:zt‘ mﬁ;::;::f 142
system software with one example each. +2 y ; Ty P 3% +2
communication.

Q4 | What is magnetic disk? Describe its working 2431 OR What Is the purpose of OSI model? Explain the | 142
mechanism with an advantege. functions of Session layer and Physical layer. +2
What is instruction format? Differentiate between

Wi s i ;

Q5 | one-address and two-address instroctions with one | 2 | OR hare-seaining deviessd FXplinfip:purpdees: | “gig

exampls sach. +2 and applications of any two devices. +2
. . . \What is an expansion card? How are sound card
Differentiate betwsen File management system and ; 442

Q.6
Database management system. (Any five points) 05 | OR | and modem card helpful for the working of a +2

computer system?
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